
 

 

 

                              

 

 

 

 

 

 

 

 

 

 

 

 

 

             Crveni                       puž prošao je    _________   centimetara. 

_____________________     puž prošao je   ________    centimetara. 

______________________    puž prošao je    ________  _____________________. 

              Narančasti                 puž prošao je    ________  _____________________. 

______________________    puž prošao je __________  _____________________. 

Koliko je centimetara prošao puž? 


